
Integrated Math I                                                     Name: ________________________________________ Period: ______ Date: _______________ 
 

 1 

CH. 1 SUMMATIVE REVIEW 
 

1. The graph below shows the outside temperature recorded every hour for a 24-hour period in Larry’s 
hometown. (F-IF.2) 
 

 
 
 
 
 
 
 
 

What is the range of this graph? 
 

A 54°F to 78°F 

B 1 hour to 24 hours 

C 54°F to 60°F 

D 24 hours to 80 hours 

 

2. Determine which of the functions below does not represent a function. (F-IF.1) 
 

 
 
 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 

ALGEBRA I 
 

15175              8                                          Go On 

1 4  Which of the following BEST describes 
the domain of the relation graphed 
below? 

 
 
A {y su ch that −8 ≤ y ≤ 2} 
B {x su ch that −4 ≤ x ≤ 3} 
C {y su ch that −4 ≤ y ≤ 2} 
D {x su ch that −8 ≤ x ≤ 3} 

1 5  If 3 2 ,
9 3

k −−−− ====  what is the value of k? 

 
A 3 
B 6 
C 7 
D 9 

1 6  Jerry had k pencils. Darcy and Leonard 
then gave Jerry an additional x pencils 
each. Which expression could represent 
the number of pencils Jerry has now? 
 
A k + x 
B k + 2x 
C 2k + x 
D 2 k x+   

1 7  Jamie rolls two six-sided number cubes. 
What is the probability that the sum of 
the numbers on the cube faces will be 
greater than or equal to 7? 
 

A 
1
3

  

B 
19
36

   

C 
5
9

 

D 
21
36

 

1 8  The graph below shows the outside 
temperature recorded every hour for a 
24-hour period in Larry’s hometown. 

 

 

What is the range of this graph? 
 
A 54°F to 78°F 
B 1 hou r to 24 hou rs 
C 54°F to 60°F 
D 24 hou rs to 80 hou rs 
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3. Consider the function g(x)  shown below. (F-IF.2) 
 
 
 
 
 
 
 
 
 
 
 
 
 

a. Find g(2) . 
 
 

b. If f (x) = −1, find x. 
 
 

c. What are the values of a and b in the statement f (a) = g(a) = b ? 
 
 
 
 
 

4. Larissa is selecting a mobile phone service. Each company charges a fixed monthly fee plus an 
additional charge for each minute in excess of the free time allowance. (F-IF.2, F-IF.5) 

 
Mobile Phone Service Plans 

Company Monthly Fee Free Minutes per Month Cost per Additional Minute 
A $35 300 $.08 
B $22 400 $.15 

 
Larissa plans to use her mobile phone as her only phone. She predicts that she will use it between 600 
and 900 minutes per month. To find the total monthly charge for each company based on m minutes of 
phone use, Larissa writes the equations below. 

 
Company A    

 
Company B   

 
Which company offers the least expensive plan if Larissa uses her phone for 600 minutes per month? 
Show the work that leads to your answer. (F-IF.2) 
 

 
 
 

A(m) = 35+ (m−300)(0.08)

B(m) = 22+ (m− 400)(0.15)



Integrated Math I                                                     Name: ________________________________________ Period: ______ Date: _______________ 
 

 3 

Supplemental Review 
1)  F-IF.A.1 
 
 
 
 
 
 
 
 
 
 
 
 
2)  F-IF.A.1 

Consider the relationship graphed below.   

Explain how you know that the relationship is a function of 𝑥. 
 
 
 
 
 
 
  

What point could you add to the relationship that would     
make it no longer a function?  Explain your reasoning.   

 
 
 
 
 
 
 
3)  F-IF.A.2 
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4)  F-IF.B.5 
 
 
 
 
 
 
 
 
 
 
 
 
5) F.IF.B.5 
 
 
 
 
 
 
 
 
 
 
 
 
 
6) F-IF.B.5 
 
 
 
 
 
 
 
 
 
 
7)  F-IF.A.2, F-IF.B.4 
Chicago’s average monthly rainfall, 𝑅 = 𝑓(𝑡) inches, is given as a function of month, 𝑡, in the table below.  
(January is 𝑡 = 1).  Solve and interpret: 
(a) 𝑓 𝑡 = 3.7 
 
 
 
(b) 𝑓 𝑡 = 𝑓(2) 


